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OO0 O Argumentd O O O O O The following appeared as part
of an article in a daily newspaper: "The computerized onboard
warning system that will be installed in commercial airliners will
virtually solve the problem of midair plane collisions. One planes
warning system can receive signals from anothers transpondera radio
set that signals a planes coursein order to determine the likelinood of
a collision and recommend evasive action." Discuss how well
reasoned . ..etc. OO O 0O0OO0O0OO0OOO0OOOOONO
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system midair plane collision (1) warning (2) onboard (3)
computerized (4) commercial airlines (5) signal course (6)
determine likelihood (7) recommend evasive action [ [J [J
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(I First, O if the cause of the problem of midair plane collisions is
that pilots are not paying attention to their computer systems or
flight operation, the warning system will not solve the collision



problem. (2)onboard 0D D 0O OO 0OOOODOODOOOOOMO
OO0000000O Second, U If the pilot or flight specialist does
not conform to what the warning system suggests, midair collision
will not be avoided. (3) computerizedJ O O O 0O O O 0O The
argument also does not address what would happen in the event that
the warning system collapses, fails, or does not work properly. (4)
commercialairlines D 0000000000 o0ododo
(I Finally, if planes other than commercial airlines are involved in
the collisions, the problem of these collisions cannot be solved by a
warning system that will not be installed on non-commercial airlines.
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DO000000000000 The main flaw in the argument is
that it assumes that the two planes, upon receiving each others
signals, will know which evasive action to take. For example, the two
planes could be going towards each other and then receive the
signals. If one turns at an angle to the left and the other turns at an
angle to the right, the two planes will still crash. Even if they receive
an Oupdated signal, they will not have time to avoid each other. [J [J
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